

Some Conditions On Ternary Semi Rings

G. Srinivasa Rao^{1,2}, D. Madhusudhana Rao³, P. Sivaprasad⁴, G. Srinivasa Rao⁵

¹Research Scholar, Department of Mathematics, Acharya Nagarjuna University, Nagarjuna Nagar, Guntur, A.P. India.

²PGT Mathematics, APSWRS Jr College, Karampudi, Guntur(Dt), A.P. India.

³Associate Professor, Department of Mathematics, VSR & NVR College, Tenali, A.P. India.

⁴Associate Professor, Department of BSH, VFSTR'S University, Vadlamudi, Guntur, A.P. India.

⁵Associate Professor, Department of Mathematics, Tirumala Engineering College, Narasarao Pet, A.P.

Corresponding Author: G. Srinivasa Rao

Abstract : Here, we introduce the notions of simple w.r.t addition, infinite, center of a ternary semi ring and proved (1) If p, q and r are elements of a ternary semi ring T while n, m and s are nonnegative integers then : (i)

$(l + q)^n = \sum_{i=0}^n l^{[i]} q^{[n-i]}$, (ii) $l^{[n]} q^{[m]} r^{[s]} = \sum_{i=0}^n (l^i q^i r^{s-1}) l^{n-i} q^{m-i} r$. (2) The laws (i) U is simple, (ii) $f = fur + fu1 + ur1 + f \forall f, u, r \in U$, (iii) $f = urf + uf1 + rf1 + f \forall f, u, r \in U$, (iv) $fur = fur + fsutr \forall f, u, r, s, t \in U$ are equivalent. (3) For a ternary semi ring U : (i) U is simple and ternary multiplicatively idempotent, (ii) $(j + u)(j + r)(j + s) = j + urs \forall j, u, r, s \in U$, (ii) If $p, q \in U$ then $f + u = f \Leftrightarrow fuu = uuf = uf u = u$ are equivalent. (4) For each element of a simple ternary semi ring U , if $J(a) = \{0\} \cup \{r \in U / r + a = 1\}$ then (i) $J(a)$ is a ternary sub semi ring of U for all $a \in U$, (ii) $J(a) \cap J(b) \cap J(c) = J(abc) \forall a, b, c \in U$. (5) If U is a ternary semi ring and $f, r' \in I^+(U)$, then (1) $(H(l), +)$ is a commutative ternary semi group, (2) $J(l) = \{l + s / s \in H(l)\}$ is a ternary subgroup of $H(l)$, (3) $J(r)J(r')J(r'') \subseteq J(rr'r'')$.

Keywords: simple, infinite, center, additive idempotent, bounded distributive lattice.

Date of Submission: 17-10-2018

Date of acceptance: 03-11-2018

I. INTRODUCTION

Historically, semi rings first studied implicitly by Dedekind in 1894 and later by Macaulay in 1916, Krull, in 1924, Noether, in 1927. Semi rings were first investigated explicitly by Vandiver in 1934. His approach was later developed in a series of expository articles culminating by Vandiver & Weaver in 1956. Since then, semi rings have been studied by different authors.

II. Main Results:

An element p of T is nilpotent iff \exists an odd positive integer $n \ni p^n = 0$. The smallest such odd +ve integer n is known as the index of nil potency of p and indicated by $P_0(T)$. Then $P_0(T) \neq \emptyset$ for ternary semi ring T , here zero is always nilpotent. Suppose the ternary semi ring T is commutative then $N_0(T)$ is a ternary sub monoid of $(T, +)$. Indeed, if $p, q \in N_0(T)$ are nilpotent elements of $T \ni p^n = q^k = 0$ for some odd +ve integer n then

$$(l + q)^{b+k} = \sum_{j=0}^{b+m} \binom{b+k}{j} l^j q^{b+m-j}, \because l^j = 0 \text{ } j \geq b \text{ \& } q^{b+m-j} = 0 \text{ if } j \leq b \text{ we observe each summand is 0 and}$$

$$(p + q)^{b+k} = 0.$$

If $l, q, r \in T$ & if b, m & s are nonnegative integers, we define the symbol $l^{[n]} q^{[m]} r^{[s]}$ inductively as :

$$(1) l^{[0]} q^{[0]} r^{[s]} = r^{[s]} \forall s \geq 0.$$

$$(2) l^{[0]} q^{[m]} r^{[0]} = b^{[m]} \forall m \geq 0.$$

$$(3) l^{[b]} q^{[0]} r^{[0]} = a^{[b]} \forall b \geq 0.$$

Intuitively, $l^{[b]} q^{[m]} r^{[s]}$ is the sum of all possible products of b of the l 's, m of the q 's and s of the r 's.

Theorem 2.1: If f, u and r are elements of a ternary semi ring T while n, m and s are nonnegative integers then :

$$(1) (f + u)^n = \sum_{i=0}^n f^{[i]} u^{[n-i]},$$

$$(2) f^{[n]}u^{[m]}r^{[s]} = \sum_{i=0}^n (f^i u^i r^{s-1}) g^{n-i} u^{m-i} r.$$

Theorem 2.2: If $f, j, y,$ and s are belong to +vely-idempotent ternary semi ring $U \ni f + y = j$ & $j + s = f \Rightarrow f = j$.

Proof: By +ve idempotent property we obtain

$$f = f + f = f + j + s = f + f + y + s = f + y + s = j + s + y + s = j + s + y = f + y = j.$$

Definition 2.3: Suppose U be a ternary semi ring & $f \in U$, then f is **infinite** iff $f + r = f \forall r \in U$. f must be unique here, if f & f' are infinites of $U \Rightarrow f = f + f' = f' + f = f'$. We have to observe that 0 can never be infinite because $0 + 1 = 1 \neq 0$. Ternary semi ring U is **simple** iff 1 is infinite, that is to say iff $f + 1 = 1$ for all $f \in U$.

Theorem 2.4: On a ternary semi ring U the following laws

- (1) U is simple
- (2) $f = fur + fu1 + fr1 + f \forall f, u, r \in U$
- (3) $f = urf + uf1 + rf1 + f \forall f, u, r \in U$
- (4) $fur = fur + fsutr \forall f, u, r, s, r \in U$ are equivalent.

Proof: Assume (1), assume $f, u, r \in U$. Then $f = f.1.1 = f(1 + u)(1 + r) = f + fu1 + fr1 + fur$.

Conversely, if (2) hold then $1 + u + r + ur = 1 + 1.1.u + 1.1.r + 1.ur = 1(1 + u)(1 + r) = 1$. Similarly, (1) \Leftrightarrow (3) and (1) \Leftrightarrow (4).

From the conditions (2) and (3) of the theorem 2.4. simple ternary semi rings are some times referred as distributive pseudo lattices.

Definition 2.5: Let U be a ternary semi ring, then $\mathcal{C}(U) = \{f \in U / fst = stf = tfs \forall s, t \in U\}$ is known as center of U . Her $0 \in \mathcal{C}(U)$ Therefore the set is nonempty & we can observe that $1 \in \mathcal{C}(U)$ & $\mathcal{C}(U)$ is a ternary sub semi ring of U . If $\mathcal{C}(U) = U$ iff ternary semi ring R is commutative.

assume $h \in U, h + h = h \Rightarrow h$ is +vely idempotent. The set $I^+(U)$ is denoted as the set of all +vely idempotents of U here U is non empty because $0 \in U$. The ternary semi ring U is +vely idempotent iff $I^+(U) = U$. An +vely idempotent ternary semi ring also called ternary dioid.

Let $t \in U$ is known as multiplicatively idempotent if $t^3 = t$ and it is denote by $I^\times(U)$. $0 \in I^\times(U)$ and hence it is nonempty. $I^\times(U)$ is a ternary sub monoid of $(U, [])$ if U is a commutative ternary semi ring. The ternary semi ring U is multiplicatively idempotent iff $I^\times(U) = U$.

Theorem 2.6: For a ternary semi ring R the conditions:

- (i) U is simple and ternary multiplicatively idempotent;
- (ii) $(p + q)(p + r)(p + s) = p + qrs$ for all $p, q, r, s \in U$,
- (iii) If $p, q \in R$ then $p + q = p \Leftrightarrow pq = qp = qpq = q$ are equivalent.

Proof: (i) \Rightarrow (ii): Suppose U is simple and ternary multiplicative idempotent. Then by theorem 2.4, we have $(p + q)(p + r)(p + s) = p^3 + pps + prp + prs + qpp + qps + qrp + qrs$

$$= p(1 + ps + rp + rs + qp + qs + qr).1 + qrs = p + qrs.$$

(ii) \Rightarrow (i): Suppose that assume (2), if $a \in R$, then by (2),

$$p^3 = (p + 0)(p + 0)(p + 0) = p + 0.0.0 = p. \text{ So } I^\times(R) = R.$$

If $p, r \in R$, then $pqr + pq1 + pr1 + p = (p + 0)(q + 1)(r + 1) = p + 0.1.1 = p$.

Therefore, by theorem 2.4, R is simple.

(i) \Rightarrow (iii): Assume that (1) hold and $p, q \in U$, then

$$pq = (q + p)(q + 0)(q + 0) = qq + pq = q + pq = q(1 + pq)1 = q11 = q$$

Similarly, $qp = (q + 0)(q + 0)(p + q) = qqp + qq = qp + q = q(1qp + 1)1 = q11 = q$ and

$$qpq = (q + 0)(q + p)(q + 0) = qq + qp = q + qp = q(1 + 1pq)1 = q11 = q.$$

(iii) \Rightarrow (i): Assume (3), by theorem 2.4, $p + q = p + pq = p + qp = p + qp = p + pq + 2pq = p$. If $q \in R$, then $11q = q$, hence $1 + q = 1$. Hence, U is simple. Particularly, it is additive idempotent. So for each $p \in R$ we get $p + p = p$ and hence $p^3 = p$. Thus R is ternary multiplicative idempotent as well.

Example 2.7: Suppose (U, \vee, \wedge) is a bounded distributive lattice having unique minimal as well as unique maximal elements 0 & 1 , then U is a commutative, idempotent simple ternarysemiring.

Corollary 2.8: A commutative ternary semi ring is a bounded distributive lattice iff it is simple multiplicatively idempotent ternary semi ring.

We find from theorem 2.4, & the example 2.7.

Corollary 2.9: If U is a simple ternary semi ring then $(I^\times(U), +)$ is a ternary sub monoid of $(U, +)$ and $I^\times(U) \cap \mathcal{C}(U)$ is a bounded distributive lattice.

Proof: Suppose $j, u \in I^\times(U)$ then $(j + u)^3 = j + uuu = j + u^3 = j + u$ by theorem 2.6, (2). Therefore, $I^\times(U)$ is closed under $+$, hence, $0 \in I^\times(U)$, it is a ternary sub monoid of $(U, +)$. Further, if $j, u \in \mathcal{C}(U)$ then $j + u \in \mathcal{C}(U)$.

We also note that $I^\times(U) \cap \mathcal{C}(U)$ since it contains both 0 and 1.

If $j, u, c \in I^\times(U) \cap \mathcal{C}(U)$ then surely so does juc . Then, $j + u \in I^\times(U) \cap \mathcal{C}(U)$. Therefore $I^\times(U) \cap \mathcal{C}(U)$ is a ternary sub semi ring of U which is simple, $\therefore 1$ is infinite. Now the proof can obtain from corollary 2.8.

Theorem 2.10: For each element of a simple ternary semi ring U ,

if $J(f) = \{0\} \cup \{v \in U / v + a = 1\}$ then

(i) $J(f)$ is a ternary sub semi ring of U for all $f \in U$.

(ii) $J(f) \cap J(u) \cap J(c) = J(fuc)$ for all $f, u, c \in U$.

Proof: Here, U is simple then clearly $1 \in J(f)$. Therefore we must show that if $u, c, k \in J(f)$, then $u + c \in T(f)$ and $uck \in T(f)$. If one of the u, c, k is 0 then it is clear. Therefore, we can assume that f, u, c are non-zero. Here, $u + 1 = c + 1 = dk + 1 = 1$, therefore $(u + c + k) + f = (u + c + k) + k + k = 1 + 1 + 1 = 1$ and hence $u + c + k \in J(f)$.

Moreover, $1 = 1 + f = (u + f)(c + f)(dk + f) + f = f + uck$ by theorem 2.4, implies that $uck \in J(f)$. Thus $J(f)$ is a ternary sub semi ring U .

(ii) $0 \neq v \in J(fuc)$, then $v + fuc = 1$, therefore by theorem 2.4, $1 = 1 + f = v + fuc + f = v + f$ implies that $v \in J(f)$. Similarly, $v \in J(u)$ and $v \in J(c)$ and so $v \in J(f) \cap J(u) \cap T(c)$.

Conversely, assume that $0 \neq v \in J(f) \cap J(u) \cap J(c)$.

Then $1 = 1 + v = (v + f)(v + u)(v + c) + v = v + fuc + v = v + fuc$, so $v \in J(fuc)$.

Thus $T(fuc) = J(f) \cap J(u) \cap J(c)$.

Theorem 2.11: Every additively idempotent ternary semi ring obtains a simple ternary sub semi ring.

Proof: Suppose P be an +vely-idempotent ternary semi ring as well as assume $U = \{f \in P / f + 1 = 1\}$. Clearly $0, 1 \in U$. If $f, u \in U$ then $f + u + 1 = f + 1 = 1$ and $fuc + 1 = (f + 1)(u + 1)(c + 1) = 1$. Therefore U is a ternary sub semi ring of P , which is clearly simple.

Theorem 2.12: Every additively idempotent ternary semi ring has a bounded distributive lattice simple ternary sub semi ring.

We prove the theorem by using th. 2.11. as well as corollary 2.9.

Theorem 2.13: The set $T = \{0\} \cup \{f \in U / f + 1 = f, U \text{ is an additively-idempotent ternary semi ring}\}$ is a ternary sub semi ring of U .

Proof: Obviously, $0 \in T$, while $1 \in T$ since U is +vely idempotent. If $0 \neq f, u \in T$ then $(f + u) + 1 = f + (u + 1) = f + u$ so $f + u \in T$. also, $fuc + 1 = f(u + 1)(c + 1) + 1 = fuc + fu.1 + fc.1 + f + 1 = (c + 1)fu + f(c + 1)1 + 1 = (fu + f)(c + 1) + 1 = f(u + 1)(c + 1) + 1 = fuc + u + f + 1 = fuc$, hence $fuc \in T$. This T is a ternary sub semi ring of U .

Notation 2.14: Let $f \in U$, then the set $H(f) = \{s \in U / \exists t \in R \exists f + s + t = f\}$. We observe that $H(f) \neq \emptyset$ for all $f \in R$. Here, $f + 0 + 0 = f \Rightarrow 0 \in H(f)$. Also if $f \in I^+(R)$ then $f \in H(f)$.

Theorem 2.15: If T is a ternary semi ring and $l, r' \in I^+(T)$ then:

(1) $(H(l), +)$ is a ternary semi group with commutative property,

(2) $J(l) = \{1 + s / s \in H(l)\}$ is a ternary subgroup of $H(l)$,

(3) $J(r)J(r')J(r'') \subseteq J(rr'r'')$.

Proof: (1) If $j, p' \in H(l)$ then $\exists s \& s' \in U$ such that $l = 1 + j + s = 1 + p' + s'$ and hence $l = 1 + 1 = 1 + (j + p') + (s + s')$. Thus $1 + p' \in H(l)$. $\therefore +$ in U is associative & commutative, $\Rightarrow H(r)$ is a ternary semi group with commutativity.

(2) We observe that $l = 1 + 0 \in J(l)$ as well as by (1) and the +ve idempotence of l , the sum of elements of $J(l) \in J(l)$. If $1 + s \in J(l)$ then $1 + (1 + s) = (1 + 1) + s = 1 + s$ so 1 is the +ve identity of $J(r)$. Finally, suppose $1 + s \in J(l)$ then $\exists t \in U$ (therefore, $H(l)$) satisfying $1 + s + t = 1$ hence $1 = (1 + s) + (1 + t)$. Thus $1 + s$ has an inverse in $J(l)$.

(3) If $r + s \in J(r)$, $r' + s' \in J(r')$ and $r'' + s'' \in J(r'')$ then $\exists t \ \& \ t' \in U \ \exists r = r + s + t$, $r' = r' + s' + t'$ and $r'' = r'' + s'' + t''$. Therefore,

$$\begin{aligned} rr'r'' &= (r + s + t)(r' + s' + t')(r'' + s'' + t'') \\ &= (rr' + rs' + rt' + sr' + ss' + st' + tr' + ts' + tt')(r'' + s'' + t'') \\ &= rr'r'' + rr's'' + rr't'' + rs'r'' + rs's'' + rs't'' + rt'r'' + rt's'' \\ &\quad + rt't'' + sr'r'' + sr's'' + sr't'' + ss'r'' + ss's'' + ss't'' + st'r'' \\ &\quad + st's'' + st't'' + tr'r'' + tr's'' + tr't'' + ts'r'' + ts's'' + ts't'' \\ &\quad + tt'r'' + tt's'' + tt't'' \\ &= rr'r'' + (r + s)(r' + s')(r'' + s'') + (rr't'' + rs't'' + rt'r'' + rt's'' \\ &\quad + rt't'' + sr'r'' + sr's'' + st'r'' + st's'' + st't'' + tr'r'' + tr's'' + tr't'' \\ &\quad + ts'r'' + ts's'' + ts't'' + tt'r'' + tt's'' + tt't'') \\ &\Rightarrow (r + s)(r' + s')(r'' + s'') \in H(rr'r''). \end{aligned}$$

But $rr'r'' + (r + s)(r' + s')(r'' + s'') = (r + s)(r' + s')(r'' + s'')$

Therefore, $rr'r'' + (r + s)(r' + s')(r'' + s'') \in J(rr'r'')$. Since $J(rr'r'')$ is closed under taking finite sum and hence (3) proved.

III. CONCLUSION

Here, we mainly studied about conditions of ternary semi rings.

Acknowledgements

Authors are very much thankful to supporters who are encouraged to prepare this paper.

REFERENCES

- [1]. **Francisco E. Alarcon & Daniel D. Anderson**, Commutat ive semirings and their lattices of ideals , Houston J . Math. 20 (1994), 571 -590.
- [2]. **Gudikondulu. Srinivas, Madhusudhana Rao.D., Srinivasa Rao. G** -Ternary Hemirings and Ternary ssemirings-Definitions & Examples- Asian Journal of Science & Technology, Vol. 8, Issue -12, December-2017, pp: 7153-7156.
- [3]. **Javed Ahsan**, Fully idempotent semirings, Proc. Japan Acad. 69, Ser . A (1993), 185 - 188.
- [4]. **Madhusudhana Rao. D.**,Theory of Γ -ideal in Γ -semigroups – Thesis, ANU (2011).
- [5]. **Madhusudhana Rao. D, Anjaneyulu. A and Gangadhara Rao. A.**, Prime Γ - Radicals in Γ -Semigroups, International e-journal of Mathematics and Engineering, 138 (2011), 1250-1259.
- [6]. **Madhusudhana Rao. D, Anjaneyulu. A and Gangadhara Rao. A.**, Prime Γ - Ideals in Duo Γ -Semigroups, International Journal of Mathematics and Engineering 174 (2012), 1642-1653.
- [7]. **Madhusudhana Rao. D. and Srinivasa Rao. G.**, Prime Radicals and Completely Prime Radicals in Ternary Semirings, International Journal of Basic Science and Applied Computing (IJBSAC) Volume-1, Issue 4, February 2015.
- [8]. **Madhusudhana Rao. D. and Srinivasa Rao. G.**,Structure of P-Prime and P-Semiprime Ideals in Ternary Semirings- International Journal of Innovation in Science and Mathematics(IJISM) Vol 3, Issue 2, February 2015, pp 24-31.
- [9]. **Madhusudhana Rao. D. and Srinivasa Rao. G.**, Special Elements of a Ternary Semirings, International Journal of Engineering Research and Applications, Vol. 4, Issue 11(Version-5), November 2014, pp. 123-130.
- [10]. **SajaniLavanya. M., Madhusudhana Rao. D., and V. Syam Julius Rajendra**,On Quasi-Ternary Γ -Ideals and Bi-Ternary Γ -Ideals in Ternary Γ -Semirings-International Journal of Mathematics and Statistics Invention, Volume 6, Issue 3, (September-2015), PP 05-14.
- [11]. **SajaniLavanya. M., Madhusudhana Rao. D., and V. Syam Julius Rajendra**,On Lateral Ternary Γ -Ideals of Ternary Γ -Semirings-American International Journal of Research in Science, Technology, Engineering &Mathematics (AIJRSTEM), 12(1), September-November, 2015, pp: 11-14.
- [12]. **SajaniLavanya. M., Madhusudhana Rao. D., and V. Syam Julius Rajendra**,Prime Bi-ternary Γ -Ideals in Ternary Γ -Semirings-British Journal of Research, Volume 2, Issue 6, November-December, 2015, pp: 156-166.
- [13]. **SajaniLavanya. M., Madhusudhana Rao. D., and V. Syam Julius Rajendra**, A Study on Jacobson Radical of a Ternary Γ -Semieing-International Journal of Mathematics and Computer Applications Research, Volume 6, Issue 1, (Feb-2016), PP 17-30.
- [14]. **SajaniLavanya. M., Madhusudhana Rao. D., and VB. Subrahmanyeswara Rao Seetamraju**, On Right Ternary Γ -ideals of Ternary Γ -Semiring, IMPACT-International Journal of Applied, Natural and Social Sciences, Vol. 4, Issue 5, May 2016, 107-114.
- [15]. **SajaniLavanya. M., Madhusudhana Rao. D., and Vasantha. M.**, A Study on Inverses Strongly Ternary Gamma Semiring- Accepted for publication in Associated Asia Research Foundation.
- [16]. **SajaniLavanya. M., Madhusudhana Rao. D., and VB. Subrahmanyeswara Rao Seetamraju**, Properties of Right Strongly Prime Ternary Gamma Semiring- Accepted for publication in International Organization of Scientific Research Journal of Mathematics.

- [17]. **Syamjuliusrajendra. V, Dr. Madhusudhana rao. D, Sajanilavanya. M**-A Study on Completely Regular po-Ternary Γ -Semiring, Asian Academic Research Journal of Multidisciplinary, Volume 2, Issue 4, September 2015, PP: 240-246.
- [18]. **yam Julius Rajendra. V, Dr.MadhusudhanaRao. Dand SajaniLavanya. M**-On Pure PO-Ternary Γ -Ideals in Ordered Ternary Γ -Semirings, IOSR Journal of Mathematics (IOSR-JM), Volume 11, Issue 5 Ver. IV (Sep. - Oct. 2015), PP 05-13.

G. Srinivasa Rao "Some Conditions On Ternary Semi Rings "International Journal of Engineering Science Invention (IJESI), vol. 07, no. 10, 2018, pp 03-07